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Place Value - Practice Exercise

I. Choose the correct answer

1. The number in which the place value of 3 is 300
a) 20,435 b) 13,576 c) 2,389 d) 31, 789

2. The number in which the place value of 1 is 1000
a) 28,135 b) 17,076 c) 7,381 d) 31, 789

3. The number in which the place value of 7 is 7

a) 27,765 b) 12,567 ) 5,379  d) 31, 789

4. The number in which the place value of 9 is 90,000
a) 935 b) 93,576 c) 2,396 d) 31, 789

5. The number in which the place value of 5 is 50

a) 20,457 b) 7,577 c) 27,589 d) 35, 790
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